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### Homework #2
### Solution to Problem 6

SHEHAHBERE SRR B O RSB R AR AR E R AR AR R R R R SRR R R R R R R AR R R R R R R R R R R R R A

Dt <- rts(matrix(scan("I:\\Courswrk\\Stat\\esuess\\Stat6871\\Data_bd\\Sunspots.txt"), ncol=l,
byrow=T))

ts.plot(Dt, main = "Sunspot data")
# plot the acf up to lag 40

par (mfrow=c(2,2))

acft (bt)

acf (Dt, type="partial")

# mean correct the data.

Xt <- Dt - mean(Dt)

acf (Xt)

acf(Xt, type="partial")

# fit the AR(2) using the Yule-Walker option
Xt.ar2.yw <- ar.yw(Xt, order=2)
Xt.ar2.yw

# look at the residuals

Rt <- Xt.ar2.ywSresid

ts.plot (Rt, main="Residuals")
hist(Rt, main = "Residuals")

acf (Rt)
acf(Rt, type="partial")
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